20124 38 7R F5E T4 (&5x)
Chelr M=, B, %, $/kg
Sy 20124 3 () SZE(EE) 2012 32l (5A) SZE(FA) FECHEY) FECIHEA) EHEHE)
= N =l = o 2 = o =l = o =i 20114 | 20124 | 2011 | 20124 ehel A

ESS R 106,515 57,442 -21.5 -13.7 318,560 175,413 -8.6 -2.3 2.04 1.85 1.94 1.82 -9.0 -6.5
N ESTS RS 8,238 1,753 15.4 10.2 24,698 5,377 39.9 35.4 4.48 4.70 4.45 4.59 4.8 3.3
A= 114,752 59,196] -19.7 -13.2 343,258 180,790 -6.3 -1.5 2.09 1.94 2.00 1.90 -7.5 -4.9
HMoAM FA 27,875 5,528 -14.7 23.3 79,933 16,839 -15.1 17.5 7.29 5.04 6.57 4.75]  -30.9 -27.7
- AAL 59 1 493.1 807.9 69 1 —44 .4 -77.6 87.64 57.26 23.99 59.59| -34.7 148.4
- A} 4,373 273 -5.1 -2.9 9,222 529 -4.7 -8.8 16.40 16.01 16.67 17.43 -2.3 4.5
— HA} 21,169 5,027 -14.5 29.6 63,549 15,382] -18.0 18.0 6.38 4.21 5.94 413l -34.0 -30.5
— ORAF & T ERA} 2,274 228 -31.5 -29.5 7,092 927 3.4 30.0 10.27 9.98 9.63 7.65 -2.8 -20.5
Ol =M R &AL 105,746 27,731 -6.9 -0.3 305,796 82,836 -2.5 4.2 4.08 3.81 3.95 3.69 -6.6 -6.5
Ol =M R YK AL 14,355 2,085 -19.0 -12.5 39,498 6,230 -11.3 -6.6 7.44 6.88 6.68 6.34 -7.5 -5.1
A 147,977 35,344 -9.8 1.9 425,227 105,905 -6.0 5.4 4.73 4.19 4.50 4.02| -11.5 -10.8
A=A = 8,733 63 12.8 7.2 22,068 180 3.5 3.7| 130.99| 137.78] 123.01| 122.85 5.2 -0.1
2xg 2,581 96 -29.4 -11.3 5,512 208] -41.0 -34.1 33.78 26.87 29.64 26.55] -20.5 -10.4
HEE 37,788 3,532 -23.8 -22.6 100,050 8,800 -16.6 -19.4 10.87 10.70 10.88 11.25 -1.6 3.5
A=TMREZ 197,768 16,142 -1.3 -7.4 502,696 42,849 4.7 -4.3 11.49 12.25 10.73 11.73 6.6 9.4
Ql=Ete REE 26,162 2,484 -14.5 -24.0 75,962 7,208 —4.1 -12.2 9.36 10.53 9.65 10.54 12.5 9.3
HEZ 365,965 43,289 -2.8 -1.4 979,531 116,585 1.0 0.2 8.57 8.45 8.34 8.40 -1.4 0.7
J|ER & 191,564 24,061 -8.8 -12.9 507,266 66,713 -2.6 -7.4 7.60 7.96 7.23 7.60 4.8 5.1
Hr3= 830,561 89,668 -5.4 -7.6] 2,193,085 242,632 -0.4 -4.0 9.06 9.26 8.71 9.04 2.3 3.8
oF 127,466 7,292 -2.0 -0.6 364,889 19,976 5.6 1.5 17.72 17.48 17.56 18.27 -1.4 4.0
- B A 2 F 67,856 3,399 -3.9 -8.9 194,162 10,275 2.3 -2.7 18.93 19.96 17.97 18.90 5.4 5.2
- ZEH o7 58,359 3,886 0.2 8.0 166,615 9,676 9.7 6.3 16.18 15.02 16.69 17.22 -7.2 3.2
- go|7 4 J|Et 1,251 7 8.9 17.0 4,113 25 1.3 4.1 202.39| 188.45| 170.07| 165.37 -6.9 -2.8
7|Et /M E 118,868 39,645 0.0 -2.9 327,719 108,450 7.0 5.6 2.91 3.00 2.98 3.02 3.1 1.3
HeHE= 246,334 46,937 -1.0 -2.6 692,608 128,426 6.2 4.9 5.16 5.25 5.33 5.39 1.6 1.3
M7 A 1,339,624 231,144 -6.6 -6.8 | 3,654,177 657,754 -0.5 -0.2 5.78 5.80 5.57 5.56 0.2 -0.3




20124 38 d w7 S8 TedH (2¥=)
Chel: M=, B, %, $/kg
Sy 20124 3 () SLE(EE) 2012 32l (%) SZE(FA) TSI EE) TSI HEA) EHEHE)
= o =l = o 2 = o =l = o =i 20114 | 20124 | 2011 | 20124 ehel A

ESS R 4,508 1,610 -44.5 -45.0 16,497 57291 -19.0 -24.6 2.77 2.80 2.68 2.88 1.0 7.4
RS ESE 17,011 4,902 -6.0 2.6 53,737 14,422 1.6 8.7 3.79 3.47 3.63 3.73 -8.3 2.7
A= 21,519 6,513 -17.9 -15.5 70,234 20,151 2.5 -3.4 3.40 3.30 3.28 3.49 -2.8 6.1
HMoAM R A 68,431 16,949 -47.8 -24.8 164,781 40,839 -53.4 -36.8 5.82 4.04 5.47 4.03] -30.6 -26.3
- A 1,340 28 -22.7 -18.4 3,465 700 -25.9 -21.2 50.17 47.53 52.53 49.34 -5.3 -6.1
- ZA} 1,196 70 -33.7 -34.3 3,090 169] -46.5 -49.7 16.88 17.03 17.18 18.29 0.9 6.5
— HA} 62,528 16,249 -49.4 -25.3 149,015 39,021 -54.9 -37.2 5.67 3.85 5.31 3.82] -32.2 -28.1
— ORAF 2 T ERA} 3,367 601 -19.4 -5.2 9,212 1,579] -27.4 -21.6 6.59 5.60 6.30 5.83] -15.0 -7.4
Ol =M R &AL 68,095 19,229 -27.5 -27.0 186,501 53,333 -14.7 -15.2 3.56 3.54 3.48 3.50 -0.7 0.5
ESS R IES PN 41,508 12,411 -42.0 -27.8 121,131 37,303 -31.7 -14.7 4.16 3.34 4.05 3.25] -19.7 -19.9
A 178,034 48,588] -40.0 -26.4 472,413 131,474] -37.0 -23.2 4.49 3.66 4.38 3.59] -18.4 -17.9
AE = 6,045 73 -17.8 -15.8 16,975 201 7.0 2.2 84.77 82.75 80.70 84.51 -2.4 4.7
2xg 1,976 29 -32.6 -66.8 6,619 107] -20.2 -47.3 33.35 67.67 40.89 61.92] 102.9 51.5
HX =2 38,172 6,710 -29.0 -8.9 110,046 19,418] -21.0 0.8 7.29 5.69 7.23 5.67| -22.0 -21.7
AWM REZ 17,617 3,063 -11.8 -13.1 49,914 7,989 -1.7 2.8 5.66 5.75 6.53 6.25 1.5 -4.3
Qlz=Ee REE 15,243 2,938 -31.0 -22.7 45,837 8,791 -19.0 -10.5 5.81 5.19 5.76 5.21 -10.7 -9.4
HEZ 6,931 837 6.7 8.1 24,838 2,922 7.0 9.7 8.39 8.28 8.71 8.50 -1.3 -2.4
7| ER& 61,478 12,410 -8.0 -4.0 166,542 32,348 —4.1 -4.2 5.17 4.95 5.14 5.15 -4.2 0.1
HNRAE 147,462 26,061 -17.8 -8.8 420,772 71,776] -10.0 -2.6 6.28 5.66 6.35 5.86 -9.9 -7.6
oF 515,981 22,425 10.5 -1.3| 1,452,831 58,794 18.3 0.7 20.56 23.01 21.03 24.71 1.9 17.5
- HE A 2 F 173,357 8,213 10.9 6.3 481,554 21,917 13.2 3.3 20.24 21.11 20.05 21.97 4.3 9.6
- ZEZH o7 339,634 14,145 10.5 -5.3 957,910 36,686 21.6 -0.8 20.58 24.01 21.29 26.11 16.7 22.7
- go|7 4 J|Et 2,990 123 -8.7 131.3 13,367 190 -9.8 9.9 61.60 24.31 85.50 70.19| -60.5 -17.9
7|Et /M E 150,430 25,517 -4.4 -3.0 433,011 70,299 6.4 2.3 5.98 5.90 5.92 6.16 -1.4 4.0
HeHE= 666,411 47,942 6.8 -2.2 | 1,885,841 129,093 15.4 1.6 12.73 13.90 12.86 14.61 9.2 13.6
HNeR A 1,013,426 129,104] -10.0 -14.7 | 2,849,261 352,495 -2.4 -10.3 7.44 7.85 7.43 8.08 5.5 8.7
2ol X 326,198 6.0 804,917 71




